fijaciones y anclajes

(il||_u5AN.

\

ZAMAKTORNILLO CABEZA HEXAGONAL

EIE  SLEEVE ANCHOR ZAMAK WITH FIXED CONE AND HEXAGONAL HEAD SCREW
B B CHEVILLE A DOUILLE ZAMAK AVEC CONE FIXE ET VIS TETE HEXAGONAL
B ULSENANKER MIT FESTEM KONUS UND SECHSKANTSCHRAUBE

CINCADO / ZINC PLATED

CAJA/BOX/BOITE ED)

con weoon asnoc = I

Code / Code Measure / Mesure Drill @/ @ Foret Wrench / Clé Extraccion Cizallado ’ ‘
MxL/@ D tension load/ extraction  shear load / cisaillement
m.m. m.m. SW daN daN
ZT06 Mé6x45/@12 12 10 300 400 100 1.200
ZT08 M8x60/214 14 13 400 500 50 300
zT10 M10x70/@16 16 17 500 700 50 300
ZT12 M12x80/@20 20 19 600 800 25 150

ZAMAK ARO

SfE SLEEVE ANCHOR ZAMAK WITH FIXED CONE AND EYE
B N CHEVILLE A DOUILLE ZAMAK AVEC CONE FIXE ET PITON
=== HULSENANKER MIT FESTEM KONUS UND AUGENSCHRAUBE

{1 [ B\Oj=an

CAJA/BOX/BOITE () CINCADO / ZINC PLATED
T TR =

Code / Code Measure / Mesure Drill @/ @ Foret Wrench/ Clé Extraccion Cizallado ’ ‘
MxL/@ D tension load/ extraction  shear load / cisaillement
m.m. m.m. SW daN daN

ZA06 M6x45/@12 12 10 300 400 100 600
ZA08 M8x60/214 14 13 400 500 50 300
ZA10 M10x70/@16 16 17 500 700 25 150
ZA12 M12x80/@20 20 19 600 800 20 120
ZAMAK GANCHO

EIE  SLEEVE ANCHOR ZAMAK WITH FIXED CONE AND HOOK
B B CHEVILLE A DOUILLE ZAMAK AVEC CONE FIXE ET CROCHET
B== {ULSENANKER MIT FESTEM KONUS UND RUNDHAKEN

a0 =af=n

CAJA/BOX/BOITE ) CINCADO / ZINC PLATED
cooico e osroch =

Code/Code Measure / Mesure Drill @/ @ Foret Wrench/ Clé E i6 Cizallad ’ ‘
MxL/@ D tension load / extraction  shear load/ cisaillement
m.m. m.m. SwW daN daN
ZG06 Mé6x45/@12 12 10 110 400 100 600
Z2G08 M8x60/214 14 13 150 500 50 300
7G10 M10x70/@16 16 17 230 700 25 150
ZG12 M12x80/@20 20 19 330 800 20 120

ZAMAK CAPSULA

EIE SLEEVE ANCHOR ZAMAK WITH FIXED CONE
B B CHEVILLE A DOUILLE ZAMAK AVEC CONE FIXE
=== {ULSENANKER MIT FESTEM KONUS

-' OS5 | mei

CAJA/BOX/BOITE () CINCADO / ZINC PLATED
conico MEDIDA osroca e

Code/ Code Measure / Mesure Drill @/ @ Foret Extraccion Cizallado s ‘
MxL/@ D tension load/ extraction  shear load / cisaillement
m.m. m.m. daN daN
2C06 M6x45/@12 12 300 400 100 1.200
ZC08 M8x60/@14 14 400 500 50 300
zC10 M10x70/@16 16 500 700 50 300
zC12 M12x80/@20 20 600 800 25 150
* Recomendamos aplicar un coeficiente de seguridad “4”/ We recommend applying a safety factor of "4" 45

/Nous recommandons d'appliquer un facteur de de sécurité "4"/ Wir empfehlen die Anwendung eines Sicherheitsfaktors von "4"
CR.: Carga recomendada, PA.: Par de apriete./ CR.: Recommended loads, PA.: Torque / CR.: Charges recommandées, PA.: Couple de serrage / CR.: Empfohlene Lasten, PA.: Anzugsdrehmoment.



